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Find the value of
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The density of a certain liquid is 69.4 1lbr/£ft?3
Express this in g 7/ cm?3, given
453.6 g,
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gscm3
g/cm?
gsecm3
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1 £t = 30.48 cm.
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Copper is composed of two isotopes;
9298 amu and the abundance is 69.09 %.

o (At MM q—,ﬂ)' X C/‘: Aboundanc: + (Af-M%‘(.\)?XZ Ac’“‘f'

Cu-63 is 62.
What is the
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.9363
.0921
.5504
.4781
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mass of Cu-65 ?

amu.
amu.
amu.
amu.

Atowic Masy

62.6¢ = 629298 x €T 1 (Cu-¢5) %

Cu-63 and Cu-65. The mass of

i

|60
62%.8S8 = H2-GIR2 +(Cu-&5) x0+30
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How many silicon atoms, Si, are there in 56.2 g of silicon ?
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The nuclear symbol ( 129 Te ) indicates that the Te atonm
52

contains:

It & NEUTRAL ATOM,

52 electrons and 77 protons.
77 electrons and 52 protons.
77 protons and 52 neutrons.

(a. 52 electrons and 52 protons.
B
[
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How many grams of Na SO0 are required to prepare 250 mL of

z L]
0.355 M solution of Na SO ? Mday Mam ¢ N&, oy = 1423 /ml
P
@) 12.69 a.ZselL X °‘3§§_‘Z°_°£ = 0.08R75 m=h
B. 3.25 g :
[ 161 g - - s
D. 202 g 3\ﬂm‘¢ GJ Na, Soy = 0. 08838 mehh K [tr2. g
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How many moles of electrons are there in 19.22 g of SO z- 2

. w
Total No G eleetong S + 40 + 2

No. o electyons = No- Q_,' Pyoton 4

1N s o 6 +4xg+2 =60¢
c. 20.02 23
D 1.157 x 1025 Mdax Mass of Sy = 3206 + 16x4 = 9606 %}_,
a . 2 - SR e
19.22 g i o Sl S L T . =[ioed)
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WKhen 6.315 g sample of a compound containing carbon, hydrogen
and nitrogen, is burned with oxygen, 14.36 g of CO and 7.832 g -
2

of H 0 are formed. If the molar mass of the compound is 116.2 g
z

what is its molecular formula ?

IZ b e . S 0 326 moliet C
. 4.3¢ 5 COg X - =391€gC o7 |
@) csH1st " J 94 dC= =
B CHX ;
2 8 ‘4%526 Hoo XZ__Cl(__:_H 7:0-8?_-”3\—! —= 0-8Fci m H_’
¢ csu'n}{: VbR Mo
D. CHNX Masc ofF N = 6315 — (3916 +0:28331 )= |:§2249 N »
i w > o:joR7:

Devidu by Loweat No- § Mol (0-ic2F g N)
Cx: H N "¢ Molay Masa= S8 3 fmy ) LR =
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When aluminum reacts with oxygen the product would have the

formula:
& mo AL —> ALH*j -
Z 3 O R O___

1

{

B. Alo
¢, Alo

£ S
D. Alo
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Given the balanced equation: et

3 I (s) + 6 NaOH (s) ==> 5 NaI (s) + NaI0O (s) + 3 H 0 (1)
z 3 2

If 8.00 g Ei NaI are produced from a mixture of 10.0 g I and

rd =
10.0 g NaOH, what is the percent yield ?QMM: T,=25%" NaGH =40, Na&I=1$0)

A. 81.3 % I m = - ICoq Nal =
% Ro E ‘0'08 12. x o) 15 % < mel Nalx I€og - ‘T-'BQ.j Nal
g: B 2S4 g1y 3Imelly  jmol Nal

1o-¢ g Na&H x Imel Nagy o, Sl Mal oy blat 3126 g Nal
4o g NaatH €mel NatcHd Imel Mal -
q. T N Theme dn s - 300 9 — .1
-84 g NaI W Theoveti <ol greld. g Yield = O?C.Céx,% ; _
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What is the mass percent of nitrogen in NH NO ?

4 3

N BE Total Moaay Mass = 14 +4xi-00R+ 14+ dxI6C = 8@-033
Z
. 18 % Sy

0 % f\a‘\cmc.j N = 144+14§ = 28 -

70 %

& 3 . B8 . .
Masa o N = gegxloe = ”
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Tuwo gas cylinders at the same temperature, the first one has
20.0 liters at a pressure of 13.0 atm. and the other one has
50.0 liters at a pressure of 9.0 atm. If the two cylinders
are connected what will the f£inal pressure be ?

Total Volime = 20.0L + oL = Fo 0L =V, =

7 10.1 atm. o 5
22.0 atm. \\," — 2 \r!)_ 8 '%'UA“'))(ZC'\.‘L
11.0 atm. gLt = 2.3 Alv;
4.02 atm. S Fo. 0 L
: Q0L X9-0 Alm
i - = 64 < g e -
k ) '?o-o [ i —— C; H % A'h £ fohb’ 5'?f-ﬁ6-‘f%
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The compound N O is named:
2 3

:} dinitrogen trioxide.
: nitrogen trioxide.

. dinitrogen tetroxide.
trinitrogen dioxide.

SR K R K K K K KRR KRR K KK DK I KKK KR I R KR KK RO R KR RO

N NO: 4
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A real gas closely approaches the behavior of an ideal gas
at conditions of

} low pressure and high temperature.
high pressure and high temperature.

low pressure and low temperature.

high pressure and low temperature.

22

s\fe-inh'hr
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cH (g +So (g ==>3c0 (g) +4H 0 ()
3 8 2 2 2

The minimum whole number coefficient of oxygen when the
above equation is balanced is -

bl igi ey

- wEn
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Real gases deviate from Ideal gas behavior as a result of: -~

1.

=

IR &

[

attractive forces between gas particles.

vibration of gas particles.

the finite volume of real gas particles. -
the size of the gas particles.

<% \}Jr\__{é.r M«;\”,\ AZ.CL,U\D’\E\—C:W Clp"\u’.gq nere B
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1 & 3
2 & 4
1
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1.00 g of dry oxygen occupies 700 mL at STP. What volume would

it occupy if collected over water at 24.0 °C and a total

pressure of 726 mm Hg ? -
( vapor pressure of water at 24.0 °C is 22.4 mm Hg )

[=Nel-- B

szz ax V= YoomL . B =losm; T, = 2;1% K B
262 mL _ ™ . . LR, T N Fo3-¢C T a26 Aha * 1. = 293
e W= PrOL Pu=lEK 9 e - 2
846 mL E
B, P . P T TP
-———‘ 41 = PL_”‘L 3 \’2 = \I[ X Y. o 13T \f — ?:’L')C‘ mL X =h x B
1

o.q2¢cakh 232

1 T2 J ke I
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5.20 g sample of a gas is collected in a 4.0-L f£lask at 27.0 °C
and 760 mm Hg. What is the molar mass of the gas ?

)
L

5 0 w(=)

32.0 g/mol. Pv= i.eT
2.88 gs/mol. MM )
4.21 g/mol. S20j X ©: 082 X36vK

3.79 gs/mol. MM = ?___Q-—T——- = ?—l3 2'0 3{ rn:'l

Pv A W&o L
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Samples of CO gas and CH gas at the same temperature and
r3 Y

pressure are introduced at opposite ends of a 5.0 feet long

tube. At what distance from the end at which CO was introduced
2 (coz+ Chy)

will the two gases meet ? . 2 S N ch
ey, MM 1 CO, m" L
et B i)
dc{iq_ MM(H‘_’
e 4.0 N X2
e ';m) = (Z-‘-!h\ =166 ' ¢ = |.€€2¢ +3¢
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i P o S = e llebdE), w=5 z81 =i 54|
K€€
A mixture of gases at 750 mm Hg contains 1.50 mol of N ,
2

SHeN N
£ oW
BN Wwdw
Hr Hh Hh
o o o o

2.20 mol of 0O and 4.80 mol of CO
2 2

What is the partial pressure of nitrogen in the mixture ?

@ 132w Be. Tolal Mok = 1'€0+2:20 + 4-80 = 850

c. 423 mm Hg. i

D. 288 mm Hg. Mol Fracken M, = 'S0 = o %E
g So

(Gt ad Rressuve = Total Presure x Mol fracken

= MSomm iy X ¢ 136

\To = 132 mm ¥




